Chapter 6




CMO
(1)

(2)

3)

Planned Amortization Class, PAC
Targeted Amortization Class, TAC
Very Accurately Defined Maturity, VADM

FHoaters
Inverse Floaters
Super Floaters



(PAC)
(p. 140~p6-14632 p. 158~p. 17E¢€

( 1 PAC (80PSA~270PSA)

( 2) (companion classes)

( 3)

( 4) (Initial Collar)

( 5) (Effective Collar)

e |nitial Effective Collar (p. 62, Figure 6-2)



e Current Effective Collar
1. PSA = upper collar (or lower collar) => Effective collar = Initial collar

2. lower collar < PSA < upper collar => lower collar upper collar
=> Effective collar

m PSA < upper collar:

upper collar
m PSA >lower collar: t>T* lower collar
lower collar
3. PSA > upper collar => upper collar lower collar => Effective
collar (converge until all companion retired)
|
PAC
4. PSA <lower collar => upper collar (
) lower
collar ( catch up feature— PAC
PAC schedule) lower

collar



(6) (Planned Amortization Class
PAC ) PAC PAC:
80~350PSA PACIII: 130~220PSA  (p.143 6-3 p.144
6-4)

(7) (Super and Sub PAC)
PAC PAC PAC PAC:
80~270 Super PAC: 60~390 Sub PAC = PAC — Super
PAC (p.145 6-5)




2. TAC (Clean TAC) p.144~p.146 6-6 (a)

P.17/~p.189
270PSA TAC
PSA 165 165PSA ~ 270PSA
3. Companion TAC 6-6 (b)
80PSA~270PSA PAC t<T* 165PSA
80PSA = Companion TAC ( 165PSA ~ 270PSA
Companion TAC 165

=> )



4. Reverse TAC 6-7 (a)
80PSA reverseTAC

PSA 165 80PSA ~ 165PSA
5. Companion Reverse TAC 6-7 (b)
80PSA~270PSA PAC t>T* 165PSA -
279PSA = Companion Reverse TAC ( 80PSA ~
165PSA Companion TAC 165
=> )

*Clean TAC PAC + Companion TAC + Companion

Reverse TAC

*Companion TAC  Companion Reverse TAC PAC Companion
TAC Reverse TAC ( )



6. VADM

Z n (30 )
VADM
A B C
VADM A
B C ( 6-1 6-8)
VADM (
Reverse TAC )

30 Z



6. 3

1. (Floatersand Inverse
Floaters)
° I I
=> Floaters

N Euro-dollars
N (Periodic Cap) (Lifetime Cap)
N hedge

Floaters LIBOR + 65bps 800 (r T

Inverse Floaters 0.424 - 4*LI1OBR 200
=> Weighted r = 9%



2.

(

Super Floaters

- bank | 10% Q
LIBOR 50bps initial LIBOR 50bps
LIBOR initial LIBOR=8% 1.5%

LIBOR

)

LIBOR



super floaters = initial
LIBOR - 50bps + 2(? LIBOR) 1/2 1/2
super floaters

0.5(10%)+0.5(initial LIBOR -50 bps +2(? LIBOR))
= 4.75%+0.5 initia LIBOR ? LIBOR

50bps+initial LIBOR+? LIBOR

4.25% - 0.5initial LIBOR



(PO)

(1) v prepayment rateN PO
|O

(2) I\ prepayment rate\

(3) PSAMN
PO hedge

*FNMA

(10)

1O



6. 4

1. Accrual Bonds(Z )

(1) A B C
(2)A B C Z
- " A B C
e Z Bonds
m VADM

m Jump Z (Sticky Z or Non-Sticky Z)
m /-PAC



m Jump Z PSA

PAC
PAC
PAC
Z Z
2 Z (sticky Z)
2 Z (non-sticky Z) prepayment rate

*Jump Z coupon



m /-PAC PAC

PAC
cash flow Reinvestment risk
* +
* PAC
*Reanvestment risk

Cash flow

cash reinvestment risk



2. PAC-10

PAC ( 8% 0.5%
71.5% PAC
6% 1.5% )
10 prepayment rate PAC

( ) PAC-IO



3.CMO resdual interest
(1) (Excess servicing spread)

(2)
)

(3) reinvestment income



3.1. Bear residuals
prepayment rateN
r

3.2. Bull residuals residual
r\/

3.3. PAC
PAC
prepayment rate

PAC



3.4. (Humped residuals)

° floaters Inverse
floaters N prepayment\
(=> )
r v (=>



) =>value




